PROGRAMMING IN HASKELL

Chapter 6 - Recursive Functions
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factorial :: Int —» Int
factorial n = product [1..n]
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factorial 4

product [1..4]

product [1,2,3,4]
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115 B 2% (Recursive Functions)

Haskell TlX. B BSZHVWTHE#BZEZHZTES,
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factorial O =1
factorial n = n * factorial (n-1)
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> factorial (-1)

Error: Control stack overflow
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product :: [Int] —» Int
product [] =1
product (nh:ns) = n * product ns
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For example:
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length :: [a] —» Int
length [] =0
length (_:xs) = 1 + length xs
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For example:
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reverse :: [a] —» [a]
reverse [] []
reverse (Xx:Xs) reverse xs ++ [x]
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For example:
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Zipping the elements of two lists:
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n+k/N\2—>: drop (n+1l) []
drop (n+1) (_:xs)
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5] (qsort = q E&HR):
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9 [2,1] ++ [3] ++ a [4,5]
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even, odd :: Int -> Bool
even 0 = True
even n = odd (n - 1)

odd O False
odd n = even (n - 1)

EEFEDEER(LDERILIEE)

even, odd :: (Integral a) => a -> Bool

even n = h rem 2 ==
odd n = not (even n)

W rem [£&E > TLVALY
DT mod &EEZD
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17D Fh R (product)
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product :: [Int] -> Int
BENTET S
product []
product (n:ns)

MEGTAZEET S
product [] =1
product (n:ns) =

BHERZTEERET D
product []
product (n:ns)
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product :: Num

n * product ns

[a] -> a
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1J& D FhER(drop)

BZzTEET S(VARDFKEMID N ERZTZIYFRS)
drop :: Int -> [a] -> [a]

BENITET S

drop 0 [] = drop n [] =
drop 0 (x:xs) = drop n (x:xs) =
MELHEEETS (oo -

drop 0 [] =[] _—=—

drop 0 (X:XS) = X:XS

drop n [] = []

BHETAZTEET D

drop n (x:xs) = drop (n-1) xs

—ﬁﬁﬂibﬁfﬁﬂliﬂ'ﬁ drop n ( :xs) = ...
drop :: Integral b => b -> [a] -> [a]
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factorial 0 = 1
factorial n = n * factorial (n-1)
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product []
product (n:ns)
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1
n * product ns
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